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ubtraction Solving Another Subtraction

Story Problem eweraa Story Problem pe 2.2
Here is the story. | Other children think, “22 + ___ = 48." They think |
Travis had 48 circus slickers. He gave 22 to Nadia.. about how much they have to add to 22 to get o U8.
How many circus stickers does Travis have left?
Roshaun used a number line.
There are many ways to solve this problem. 8 10 8
Some children show U8 stickers. Then they remove . /,,,,.-—L—-.,,,\ ,,-—-""'_+__""‘"-=\ /H____i____‘\
or cross out 22 of them, and count how many are left.
: -+
leigh drew U8 stickers, crossed out | Gregory broke up the 48 so he 20 22 30 HO ug 50
ad counted how many ‘-'f:: i:e::. could subtract 22, 29 + 26 = 48
- :} 18 = 20 + }ﬂ:+ 6 +X Travis used the 100 chart. Paige used equations
L - to record her thinking.
o 26 are left! i Tj2|3f4|5]|6|7|819]10 "
L ’ | n{iz|13| 415016 17] 18] 19|20
f_zf"—' W 212223 |24 (25|26 |27 |28 [29|30 2¢ .2 .08
_?hi 2 3132|133 |34 |35|36( 37| 38|39 |40 22 + 20 = 42
FroLa 10 =
)t + 8 |wi|uz|us|uulusiusuz (ugfue|so ¥2 + 6 = 48
% 20+ 6 =26
—Ohther-children subtract 22 from U8 in parts. o kS0 o o
61 | 62|63 | U |45 66|67 |68 |49 70
Jacy used a number line to subtract | Malcolm broke 22 into 20 71|72|73|74|75|76|77| 78| 79|80
22 from U8. and 2. First he subtracted 20, 81|82 |83|8u|85|86|87|88| 89|90
-2 -10 -10 then he sublracted 2.
(92| FI|PU| 95| 6|97 |98 | 99100
F weT Ty :
HIl”l II ””I I 8 - 22 = 7
@?’g 33 'fS H’E - 20 - 2.3 ] T T T T S T S T R TN T P~ — e - n - a——. e
08 - 99 - 2% 28 - 2 = 26 ; How would you solve this problem?
| su | |
seventy-one | 71 |72 | seventy-two
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